Garland Independent School District GISD Sourcing Bid Tab Report

Bid#:	32057	Title: 168-1 Uniforms &		
55456 55256 55256 55455 55455 55255 55354	Vendor / Subbiler 1 AMERICA TEAM SPORTS 1 BARCELONA SPORTING GOODS 1 TIS GREEK TO ME 1 KNOCKOLIT SPORTSWEAR.COM LLC PYRAMID SCHOOL PRODUCTS 5 AND S WORLDWIDE INC THE PROPHET CORP VARSITY BARDB HOLDINGS CO INC	EPCNT Yes Yes Yes YES Yes Yes Yes	Discount	4NS - Not to Specifications

					*Confidential			
Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
	Dudley Thunder Heat Yellow Softballs with Red stitching #WT12YFP, core .47 -42; No subs district	(1,7,14)	neuson	0011	ouppiloi	u .y	11100	11100
1	game ball		4NS - Fill Ins	EA	S AND S WORLDWIDE INC	47	\$5.79	\$272.13
		Y		EA	THE PROPHET CORP	47	\$54.64	\$2,568.08
				EA	PYRAMID SCHOOL PRODUCTS	47	\$59.95	\$2,817.65
				EA	AMERICA TEAM SPORTS	47	\$60.95	\$2,864.65
				EA	*BARCELONA SPORTING GOODS	47		
				EA	VARSITY BRANDS HOLDINGS CO INC	47	\$71.98	\$3,383.06
				LA	VARSHT BRANDS HOLDINGS CO INC	47	<i>φ1</i> 1.90	\$3,303.00
2	Dudley Ball Bucket #RA12843606 or approved equal	Y		EA	PYRAMID SCHOOL PRODUCTS	2	\$16.00	\$32.00
				EA	S AND S WORLDWIDE INC	2	\$17.36	\$34.72
3	Badger Women's C2 Long Sleeve T-shirts, Gray with custom logo, or approved equal	Y		EA	AMERICA TEAM SPORTS	20	\$9.75	\$195.00
				EA	VARSITY BRANDS HOLDINGS CO INC	20	\$10.05	\$201.00
				EA	*BARCELONA SPORTING GOODS	20		
				EA	KNOCKOUT SPORTSWEAR.COM LLC	20	\$13.00	\$260.00
	Padera Narda Collaren Olaren Tobiata Garreniak			EA	ITS GREEK TO ME	20	\$30.50	\$610.00
4	Badger Men's C2 Long Sleeve T-Shirts, Gray with custom logo or approved equal	у		EA	AMERICA TEAM SPORTS	2	\$9.75	\$19.50
				EA	VARSITY BRANDS HOLDINGS CO INC	2	\$10.05	\$20.10
						-	 10.05	
				EA	*BARCELONA SPORTING GOODS	2		
				EA	KNOCKOUT SPORTSWEAR.COM LLC	2	\$13.00	\$26.00
				EA	ITS GREEK TO ME	2	\$30.00	\$60.00
				LA	IT'S GREEK TO ME	2	\$30.00	\$00.00
_	Badger B Core L/S Hood # 4105 Royal with white	Y				22	\$13.95	* ****
5	lettering in white or approved equal	Y		EA	AMERICA TEAM SPORTS	22	\$13.95	\$306.90
				EA	*BARCELONA SPORTING GOODS	22		
				EA	VARSITY BRANDS HOLDINGS CO INC	22	\$14.20	\$312.40
				EA	KNOCKOUT SPORTSWEAR.COM LLC	22	\$18.50	\$407.00
				EA	INTOCIOUT SFORTSWEAK.COM LLC		ͽ Ίδ.ວU	\$407.0U
				EA	ITS GREEK TO ME	22	\$23.50	\$517.00
6	Glover 3 part Line-up Softball Cards #BB-103, or approved equal	Y		EA	*BARCELONA SPORTING GOODS	9		
				EA	AMERICA TEAM SPORTS	9	\$7.75	\$69.75
				EA	VARSITY BRANDS HOLDINGS CO INC	9	\$8.19	\$73.71
	Glover Short Form Baseball/Softball Scorebook, #BB-							
7	106, or approved equal	Y		EA	AMERICA TEAM SPORTS	2	\$12.75	\$25.50
				EA	VARSITY BRANDS HOLDINGS CO INC	2	\$12.94	\$25.88
		1	1				÷12.34	ψ±0.00

Cliff Odenwald participated and concurs with this recommendation. The District solicited 348 vendors and received 8 responses RFP# 168-18 Softball Uniforms and Equipment

Line #	Item Description	Award (Y / N)	Reason	иом	Supplier	Qty	Price	Extended Price
				EA		2		
8	Jug Sting Free Realistic Seam Practice Ball 12", yellow, #b4015, or approved equal	Y		DZ	*BARCELONA SPORTING GOODS AMERICA TEAM SPORTS	3	\$35.00	\$105.00
				DZ	PYRAMID SCHOOL PRODUCTS	3	¢25.00	\$105.00
				02	FIRAWID SCHOOL PRODUCTS	3	\$35.00	\$105.00
				DZ	VARSITY BRANDS HOLDINGS CO INC	3	\$37.98	\$113.94
				DZ	*BARCELONA SPORTING GOODS	3		
9	Jugs pitching Machine Balls 12" #TB-K11393, or approved equal	Y		DZN	AMERICA TEAM SPORTS	9	\$33.75	\$303.75
5								
				DZN	PYRAMID SCHOOL PRODUCTS	9	\$35.00	\$315.00
10	Jugs Leather Last Official Pitching Machine Softball #85250, or approved equal	Y		DZN DZN	VARSITY BRANDS HOLDINGS CO INC PYRAMID SCHOOL PRODUCTS	9 2	\$37.97 \$90.00	\$341.73 \$180.00
10								
				DZN	VARSITY BRANDS HOLDINGS CO INC	2	\$99.98	\$199.96
11	Jugs Softie 12" Softball #BB2001, or approved equal	Y		DZN	S AND S WORLDWIDE INC	3	\$52.31	\$156.93
				DZN	AMERICA TEAM SPORTS	3	\$59.00	\$177.00
				DZN DZN	PYRAMID SCHOOL PRODUCTS VARSITY BRANDS HOLDINGS CO INC	3	\$69.00 \$69.98	\$207.00 \$209.94
12	Jugs Replacement 6 x 6 Softball Pitching Net, or approved equal	Y		EA	VARSITY BRANDS HOLDINGS CO INC	1	\$79.98	\$79.98
				EA	PYRAMID SCHOOL PRODUCTS	1	\$82.00	\$82.00
13	Twin city all-sport Game Tube Socks #TSR, no subs			PR	AMERICA TEAM SPORTS	154	\$2.20	\$338.80
				PR	*BARCELONA SPORTING GOODS	154		
				PR	PYRAMID SCHOOL PRODUCTS	154	\$2.25	\$346.50
				PR	VARSITY BRANDS HOLDINGS CO INC	154	\$2.85	\$438.90
14	Twin City Solid Black Gam Stirrups, no subs	Y		PR	PYRAMID SCHOOL PRODUCTS	15	\$5.25	\$78.75
				PR	*BARCELONA SPORTING GOODS	15		
				PR	VARSITY BRANDS HOLDINGS CO INC	15	\$6.30	\$94.50
	DeMarini CFX-(-10) Insane Softball Bat, Bat 34" - 24 oz.			PR	AMERICA TEAM SPORTS	15	\$6.95	\$104.25
15	or approved equal	Y		EA	PYRAMID SCHOOL PRODUCTS	1	\$250.00	\$250.00
16	DeMarini CFX (-10_ Balances Fastpitch Softball, Bat# WTDXCFP 2333-18, or approved equal	Y		EA	AMERICA TEAM SPORTS PYRAMID SCHOOL PRODUCTS	1	\$289.00 \$250.00	\$289.00 \$250.00
				EA	AMERICA TEAM SPORTS	1	\$289.00	\$289.00
17	DeMarini Momentum Wheeled Bag, WET9406, or approved equal	Y		EA	PYRAMID SCHOOL PRODUCTS	3	\$289.00	\$289.00
				EA	VARSITY BRANDS HOLDINGS CO INC	3	\$57.98	\$173.94
				EA	AMERICA TEAM SPORTS	3	\$65.00	\$195.00
				EA	*BARCELONA SPORTING GOODS	3		
18	DeMarini Women's yard Work Training Shorts #WTD3016, black/white, or approved equal		4NS - Fill Ins	ea	ITS GREEK TO ME	40	\$17.00	\$680.00
		Y		PR	*BARCELONA SPORTING GOODS	40		
				PR	PYRAMID SCHOOL PRODUCTS	40	\$19.00	\$760.00
				PR PR	AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC	40 40	\$19.95 \$24.00	\$798.00 \$960.00
19	DeMarini Game Socks, or approved equal	Y		PR	PYRAMID SCHOOL PRODUCTS	36	\$4.00	\$144.00
				PR	VARSITY BRANDS HOLDINGS CO INC	36	\$4.50	\$162.00
ı				PR	*BARCELONA SPORTING GOODS	36		

Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
		(.,,,,		PR	AMERICA TEAM SPORTS	36	\$6.50	\$234.00
				FK	AWERICA TEAW SPORTS	30	\$0.50	\$234.00
00	Easton Touch Incrediball #BBST12Y, 12" Softball, or	~		PR	ITS GREEK TO ME	36	\$10.00	\$360.00
20	approved equal	Y		DZ DZ	THE PROPHET CORP VARSITY BRANDS HOLDINGS CO INC	1	\$60.48 \$63.98	\$60.48 \$63.98
				DZ	S AND S WORLDWIDE INC	1	\$77.88	\$77.88
	Easton Walk Off IV Backpacks, Orange with							
21	"NAAMAN" stitched in dark green, or approved equal	Y		EA	AMERICA TEAM SPORTS *BARCELONA SPORTING GOODS	18	\$59.95	\$1,079.1
22	Easton Z5 Grip Two Tone Senior Batting helmet with mask, royal/white, or approved equal	Y		EA	*BARCELONA SPORTING GOODS	6		
				EA	VARSITY BRANDS HOLDINGS CO INC	6	\$47.98	\$287.8
				EA	AMERICA TEAM SPORTS	6	\$53.95	\$323.7
23	Easton Ghost Fastpitch Softball Bat #FP18GH10, or approved equal	Y		EA	AMERICA TEAM SPORTS	1	\$285.00	\$285.0
				EA	*BARCELONA SPORTING GOODS	1		
24	Nike Women's Dry Tempo Sort #NK849585-019 Black/Black, or approved equal		4NS fill-ins	PR	ITS GREEK TO ME	2	\$10.00	\$20.0
		Y		PR	VARSITY BRANDS HOLDINGS CO INC	2	\$17.06	\$34.1
	Nike Women's Legend Tee #NK453181-100, Short			PR	*BARCELONA SPORTING GOODS	2		
	Sleeve, White with Black "NG Softball" in the middle, or approved equal	N	4NS fill-ins	EA	ITS GREEK TO ME	2	\$24.00	\$48.0
		Y		EA	*BARCELONA SPORTING GOODS	2		
				EA	VARSITY BRANDS HOLDINGS CO INC	2	\$41.91	\$83.8
26	Nike Storm-Fit Dugout Jacket II #708184, anthracite, or approve equal, - Sizes to order when is placed		4NS fill-ins	EA	ITS GREEK TO ME	2	\$55.00	\$110.0
				EA	VARSITY BRANDS HOLDINGS CO INC	2	\$65.62	\$131.2
27	Nike Waterproof Pant #777178, anthracite, or approved equal, Sizes to follow when order is placed		4NS fill-ins	PR	ITS GREEK TO ME	2	\$45.00	\$90.0
		Y		PR	VARSITY BRANDS HOLDINGS CO INC	2	\$76.56	\$153.1
				PR	*BARCELONA SPORTING GOODS	2		
28	Nike Stock Early Season Polo, #909554, Game royal, or approved equal, sizes to follow when order is placed		4NS fill-ins	EA	ITS GREEK TO ME	2	\$25.00	\$50.0
		Y		EA	VARSITY BRANDS HOLDINGS CO INC	2	\$32.81	\$65.6
				EA	*BARCELONA SPORTING GOODS	2		
29	Nike Therma Crew #867303, royla/white, or approved equal, sizes to follow when order is placed	Y		EA	VARSITY BRANDS HOLDINGS CO INC	2	\$27.34	\$54.6
				EA	*BARCELONA SPORTING GOODS	2		
				EA	ITS GREEK TO ME	2	\$30.00	\$60.0
30	Holloway jacket #229111, black/black, - no subs	Y		EA	AMERICA TEAM SPORTS	3	\$34.00	\$102.0
				EA	VARSITY BRANDS HOLDINGS CO INC	3	\$34.05	\$102.1
				EA	*BARCELONA SPORTING GOODS	3		
31	Holloway Swift Wicking Shirt #HL222551, graphite with navy lettering "Sachse Softball" on front, no subs	Y		EA	AMERICA TEAM SPORTS	50	\$9.65	\$482.5
				EA	*BARCELONA SPORTING GOODS	50		
				EA	VARSITY BRANDS HOLDINGS CO INC	50	\$10.19	\$509.5
32	Mizuno Samurai G3 Fastpitch Softball Chet Protector 13"-14", red/gray, or approved equal	Y		EA	PYRAMID SCHOOL PRODUCTS	1	\$65.00	\$65.0

Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
				EA	*BARCELONA SPORTING GOODS	1		
	Mizuno Samurai G4 Catcher's Helmet - red, or			EA	AMERICA TEAM SPORTS	1	\$80.00	\$80.00
33	approved equal	Y		EA	VARSITY BRANDS HOLDINGS CO INC	1	\$69.91	\$69.91
				EA	PYRAMID SCHOOL PRODUCTS	1	\$71.00	\$71.00
				EA	*BARCELONA SPORTING GOODS	1		
				EA	AMERICA TEAM SPORTS	1	\$87.00	\$87.00
34	Mizuno Samurai Shin Guards 15", red/gray, or approved equal	Y		EA	PYRAMID SCHOOL PRODUCTS	1	\$69.00	\$69.00
				EA	*BARCELONA SPORTING GOODS	1		
				EA	AMERICA TEAM SPORTS	1	\$85.00	\$85.00
	Mizuno Organizer G4 Baseball Backpack #MZ360226,							
35	Navy, Royal Blue, or approved equal	Y		EA	AMERICA TEAM SPORTS	65	\$34.49	\$2,241.85
				EA	*BARCELONA SPORTING GOODS	65		
				EA	VARSITY BRANDS HOLDINGS CO INC	65	\$36.98	\$2,403.70
	Mizuno Prospect Helmet #MBH601, Royal or approved			EA	PYRAMID SCHOOL PRODUCTS	65	\$38.00	\$2,470.00
36	equal,	Y		EA	AMERICA TEAM SPORTS	1	\$32.00	\$32.00
	Mizuno MVP Two tone Batting Helmet, Royal/White -			EA	*BARCELONA SPORTING GOODS	1		
37	s/m, MI-380300, or approved equal	Y		EA	*BARCELONA SPORTING GOODS	13		
				EA	PYRAMID SCHOOL PRODUCTS	13	\$32.00	\$416.00
				EA	AMERICA TEAM SPORTS	13	\$34.89	\$453.57
38	Mizuno MVP Two Tone Batting Helmet, royal/White - 1/xl #MI-380352, or approved equal	Y		EA	*BARCELONA SPORTING GOODS	1		
				EA	PYRAMID SCHOOL PRODUCTS	1	\$32.00	\$32.00
				EA	AMERICA TEAM SPORTS	1	\$34.89	\$34.89
39	Mizuno 34" Pattern Catcher's Mitt, GXS50PF2 #MI- 312472 - right handed thrower, or approved equal	Y		EA	PYRAMID SCHOOL PRODUCTS	1	\$72.00	\$72.00
				EA	*BARCELONA SPORTING GOODS	1		
				EA	AMERICA TEAM SPORTS	1	\$85.95	\$85.95
40	Mizuno 34" Pattern First Base Mitt Franchise Series GXS90F2 #MI-312473 - right handed thrower, or approved equal	Y		EA	PYRAMID SCHOOL PRODUCTS	1	\$50.00	\$50.00
				EA	*BARCELONA SPORTING GOODS			
						1	450.05	450.05
41	Under Armour Over the Calf Socks #UA1264790, Adult Medium, or approved equal	Y		EA PR	AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC	1 30	\$59.95 \$6.06	\$59.95 \$181.80
				PR	AMERICA TEAM SPORTS	30	\$7.00	\$210.00
						50	\$7.00	<i>_</i> 10.00
				PR	*BARCELONA SPORTING GOODS	30		
				PR	ITS GREEK TO ME	30	\$10.00	\$300.00
42	Under Armour Icon Knickers Softball Pant UTUSP522W, black, or approved equal	Y		PR	ITS GREEK TO ME	20	\$25.00	\$500.00
				PR	*BARCELONA SPORTING GOODS	20		
				PR	VARSITY BRANDS HOLDINGS CO INC	20	\$29.16	\$583.20
				PR	AMERICA TEAM SPORTS	20	\$31.85	\$637.00

Line #	Item Description	Award (Y / N)	Reason	иом	Supplier	Qty	Price	Extended Price
	Adidas Modern Varsity Long Sleeve 1/2 Zip Top #6702 - WXN with two color log on left chest, Sizes to follow							
	when order is placed, or approved equal			EA	AMERICA TEAM SPORTS	20	\$27.00	\$540.00
44	Adidas Baseball/Softball Belts #26, or approved equal	Y		EA	AMERICA TEAM SPORTS	60	\$3.00	\$180.00
				EA	ITS GREEK TO ME	60	\$10.00	\$600.00
45	Adidas Premium Softball Stirrups #5130342C, or approved equal			EA	AMERICA TEAM SPORTS	80	\$7.25	\$580.00
46	Adidas Team Issue Crew Top #358F, Onix, or district approved equal	Y		EA	ITS GREEK TO ME	4	\$25.00	\$100.00
				EA	AMERICA TEAM SPORTS	4	\$27.00	\$108.00
	Adidas Techfleece Hoodie #359FLM6 3 color logo on front & 2 color 6" number on back "EAGLES" in which outlined in maroon on back above# on back# or							
47	approved equal	Y		EA	ITS GREEK TO ME	40	\$18.50	\$740.00
	Adidas Shocklite No Hitter Softball Jerseys #AD02403 W Custom Sublimation, 16 - gray with two color			EA	AMERICA TEAM SPORTS	40	\$37.00	\$1,480.00
48	letering & numbers, 16 - white with two color lettering & numbers, Sizes and numbers to follow when order is placed, or approved equal	Y		EA	ITS GREEK TO ME	32	\$50.00	\$1,600.00
				EA	AMERICA TEAM SPORTS	32	\$55.00	\$1,760.00
49	Adidas Home Slider Pant #AD01972W, Sizes to follow ehen order is placed, or approved equal	Y		PR	ITS GREEK TO ME	52 60	\$55.00	\$1,780.00
				PR	AMERICA TEAM SPORTS	60	\$38.95	\$2,337.00
50	Adidas Primero Bat BAckpacks #5140889, or approved equal			EA	ITS GREEK TO ME	20	\$23.00	\$460.00
	Adidas Men's Speed Trainer 3.0 Black/Black, or			EA	AMERICA TEAM SPORTS	20	\$46.55	\$931.00
51		Y		PR	AMERICA TEAM SPORTS	3	\$47.00	\$141.00
52	Diamond Numbered Training Balls 12", #RADTSSB1234, or approved equal					1	NB	NB
53	Diamond Team Bat Bag, black #GC02-706 40" 1 x 10" h - 5.5 lbs., or approved equal Diamond Sports Ball Bucket, #1404890, black, or			EA	VARSITY BRANDS HOLDINGS CO INC	1	\$50.98	\$50.98
54	approved equal	Y		EA	AMERICA TEAM SPORTS	6	\$15.00	\$90.00
				EA	VARSITY BRANDS HOLDINGS CO INC	6	\$15.98	\$95.88
55	BSN Baseball/Softball Line-up cards, #MCLINEUP, or approved equal	Y		EA	VARSITY BRANDS HOLDINGS CO INC	2	\$4.24	\$8.48
				EA	*BARCELONA SPORTING GOODS	2		
56	BSN Sports Cart Field Ball Hopper #1274011, or approved equal			EA	VARSITY BRANDS HOLDINGS CO INC	1	\$374.98	\$374.98
57	BSN Recruit Hoody #BSN3001, Navy with White Lettering "Sachse" with running Mustang "Softball", or approved equal	Y		EA	AMERICA TEAM SPORTS	50	\$18.65	\$932.50
				EA	ITS GREEK TO ME	50	\$19.00	\$950.00
				EA	VARSITY BRANDS HOLDINGS CO INC	50	\$21.50	\$1,075.00
58	BSN Sports Single Wheel BB/SB Pitching Machine, #BBDOG1xx, or approve equal			EA	VARSITY BRANDS HOLDINGS CO INC	1	\$524.98	\$524.98
	Charles River pack-N-Go Jacket, #CR9904, or							
59	approved equal	Y		EA	AMERICA TEAM SPORTS	16	\$27.00	\$432.00
	Schutt Standing Roller Equipment Bag, black, #RA-			EA	ITS GREEK TO ME	16	\$27.00	\$432.00
60	Schutt Standing Koller Equipment Bag, black, #KA- 12843606, or approved equal	Y		EA	VARSITY BRANDS HOLDINGS CO INC	1	\$74.98	\$74.98
				EA	*BARCELONA SPORTING GOODS	1		
				EA	AMERICA TEAM SPORTS	1	\$79.95	\$79.95

Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
61	Schutt Dugout Fence Bat Rack, #GC02-910, or approved equal	Y		EA	S AND S WORLDWIDE INC	2	\$12.16	\$24.32
				EA	THE PROPHET CORP	2	\$15.04	\$30.08
				EA	VARSITY BRANDS HOLDINGS CO INC	2	\$18.41	\$36.82
				EA	AMERICA TEAM SPORTS	2	\$22.00	\$44.00
				EA	*BARCELONA SPORTING GOODS	2		
62	Schutt Coaches Backpack #GC02-910, or approved equal	Y		EA	ITS GREEK TO ME	1	\$29.00	\$29.00
				EA	THE PROPHET CORP	1	\$41.24	\$41.24
				EA	*BARCELONA SPORTING GOODS	1		
				EA	VARSITY BRANDS HOLDINGS CO INC	1	\$49.98	\$49.98
63	Schutt Strike Zone Softball Home Plate, #12806900, or approved equal	v		EA	AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC	1	\$60.00 \$11.94	\$60.00 \$23.88
00				EA	AMERICA TEAM SPORTS	2	\$15.00	\$30.00
				EA	*BARCELONA SPORTING GOODS	2	÷.5.00	
64	Rawlings Softball Batters Helmet, Black, GC42-341, or approved equal	Y		EA	THE PROPHET CORP	6	\$27.04	\$162.24
				EA	PYRAMID SCHOOL PRODUCTS	6	\$29.00	\$174.00
				EA	VARSITY BRANDS HOLDINGS CO INC	6	\$30.88	\$185.28
	Rawlings Premium Pro SEries Leather Glove, #HV02-			EA	AMERICA TEAM SPORTS	6	\$32.00	\$192.00
65	950 - 12" 1-right throw, or approved equal	Y		EA	AMERICA TEAM SPORTS	12	\$49.00	\$588.00
				EA	*BARCELONA SPORTING GOODS	12		
				EA	PYRAMID SCHOOL PRODUCTS	12	\$69.00	\$828.00
66	Rawlings Softball catcher's Mitt #GC42-864, or approved equal	Y		EA	THE PROPHET CORP	1	\$48.04	\$48.04
				EA	PYRAMID SCHOOL PRODUCTS	1	\$72.00	\$72.00
				EA	AMERICA TEAM SPORTS	1	\$89.00	\$89.00
67	Rawlings Pro Model Baseball Scorebook #GC02-579, or approved equal	Y		EA	VARSITY BRANDS HOLDINGS CO INC	1	\$3.98	\$3.98
				EA	THE PROPHET CORP	1	\$5.44	\$5.44
68	Louisville Slugger XENO Plus Fastpitch Bat, #FPXN170, 1 -33'23 oz, 1 33" 24 oz, or approved equal	Y		EA	PYRAMID SCHOOL PRODUCTS	2	\$230.00	\$460.00
				EA		2		
					*BARCELONA SPORTING GOODS			
	Louisville Slugger 2018 Proven (-13) Fastpitch Bat 1-			EA	AMERICA TEAM SPORTS	2	\$279.00	\$558.00
69	32" 19 0z, 33" 20 oz, 33" 23 oz, or approved equal	Y		EA	PYRAMID SCHOOL PRODUCTS	3	\$70.00	\$210.00
				EA	AMERICA TEAM SPORTS	3	\$109.00	\$327.00
70	Louisville Slugger Xeno First base Mitt 13'#GC02-957 Right Throw, or approved equal	Y		EA	PYRAMID SCHOOL PRODUCTS	1	\$66.00	\$66.00
				EA	THE PROPHET CORP	1	\$69.74	\$69.74
				EA	AMERICA TEAM SPORTS	1	\$85.00	\$85.00
71	Louisville Slugger Portable Pitching Screen #560115, or approved equal	NB				1	NB	NB
71	or approved equal Score Right Baseball/Softball Scorebook, or approved						NB	
72	equal	Y		EA	S AND S WORLDWIDE INC	1	\$3.09	\$3.09

Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
#	item Description	(171)	Reason	UCINI	Supplier	GLY	FILCE	FILCE
				EA	VARSITY BRANDS HOLDINGS CO INC	1	\$3.98	\$3.98
73	2018-19 National Federation Softball Rulebooks, or approved equal			EA	AMERICA TEAM SPORTS	8	\$12.00	\$96.00
				EA	*BARCELONA SPORTING GOODS	8		
74	MacGregor Universal Rubber Anchor Plugs, #BBRPLUGS, or approved equal	Y		EA	VARSITY BRANDS HOLDINGS CO INC	6	\$1.93	\$11.58
74	BRELOGS, or approved Equal			LA	VARGITI BRANDS HOLDINGS CO INC	0	\$1.55	\$11.50
75	MacGregor Dimpled Softball Machine Balls, #BBDSBALL, or approved equal Gildan Ultra Cotton T-shirts 2000, antique blue with			DZ	VARSITY BRANDS HOLDINGS CO INC	2	\$18.98	\$37.96
76	gold lettering outlined in white "Patriot Softball" - block font, Sizes to follow when order is placed, or approved	X		E A		35		
76	equal	Y		EA	*BARCELONA SPORTING GOODS	30		
				EA	AMERICA TEAM SPORTS	35	\$6.00	\$210.00
				EA	VARSITY BRANDS HOLDINGS CO INC	35	\$6.65	\$232.75
				EA	ITS GREEK TO ME	35	\$7.00	\$245.00
				EA	KNOCKOUT SPORTSWEAR.COM LLC	35	\$9.50	\$332.50
	Gildan Ladies Performance Long Sleeve T-Shirts, #42400L, antique blue with gold lettering outlined in			LA	RNOCKOUT SPORTSWEAK.COM LEC	55	\$9.30	\$332.30
77	white "Lakeview Softball" - block font, Sizes to follow when order is placed, or approved equal	Y		EA	AMERICA TEAM SPORTS	35	\$9.00	\$315.00
				EA	*BARCELONA SPORTING GOODS	35		
							¢44.05	¢202 75
				EA	VARSITY BRANDS HOLDINGS CO INC	35	\$11.25	\$393.75
				EA	KNOCKOUT SPORTSWEAR.COM LLC	35	\$12.50	\$437.50
				EA	ITS GREEK TO ME	35	\$17.00	\$595.00
	Gildan Dry-blend T-shirts #G5000, ash with design of stitches of ball - scarlet "Softball" between them -							
78	roygal "Garland"on the bottome of stitches, Black - "Win the DAY" - Royal, or approved equal	Y		EA	VARSITY BRANDS HOLDINGS CO INC	48	\$6.50	\$312.00
				EA	AMERICA TEAM SPORTS	48	\$8.75	\$420.00
				EA	*BARCELONA SPORTING GOODS	48		
				EA	KNOCKOUT SPORTSWEAR.COM LLC	48	\$11.50	\$552.00
				EA	ITS GREEK TO ME	48	\$14.00	\$672.00
	Gildan Classic Long Sleeve T-Shirts #5000, red "Varsity"down the sleeve - white, "Colonel" "Softball" across front in white lettering outlined in royal, or							
79	approved equal	Y		EA	VARSITY BRANDS HOLDINGS CO INC	26	\$9.10	\$236.60
				EA	*BARCELONA SPORTING GOODS	26		
				EA	AMERICA TEAM SPORTS	26	\$11.50	\$299.00
				EA EA	ITS GREEK TO ME KNOCKOUT SPORTSWEAR.COM LLC	26 26	\$14.00 \$21.50	\$364.00 \$559.00
	Athletic Connection Battng Practice Ball Cart,						÷= 1.00	<i>4000.00</i>
80	Athletic Connection Batting Practice Ball Cart, #1291568, or approved equal			EA	VARSITY BRANDS HOLDINGS CO INC	1	\$129.98	\$129.98
81	Tanner Tees, #1384015, or approved equal	Y		EA	VARSITY BRANDS HOLDINGS CO INC	6	\$69.47	\$416.82
				EA	AMERICA TEAM SPORTS	6	\$70.00	\$420.00
				EA	*BARCELONA SPORTING GOODS	6		

Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
	New Balance Men's Shoes #000V3 Turf Trainer, black,	(.,,			Cuppilo	_ .,		
82	Sizes to follow whe order is placed, or approved equal	NB				2	NB	NI
83	The Ultimate Baseball/Softball Scorebook, #30G, or approved equal			EA	VARSITY BRANDS HOLDINGS CO INC	2	\$3.98	\$7.9
84	Game Time Athletics Baseball Belt #1172577, or approved equal	Y		EA	VARSITY BRANDS HOLDINGS CO INC	45	\$1.69	\$76.0
				EA	PYRAMID SCHOOL PRODUCTS	45	\$1.85	\$83.2
				EA	*BARCELONA SPORTING GOODS	45		
				EA	AMERICA TEAM SPORTS	45	\$3.00	\$135.0
				EA	ITS GREEK TO ME	45	\$10.00	\$450.0
85	MUHL Balls (set of 3) #MLBLL3, or approved equal			SET	AMERICA TEAM SPORTS	2	\$79.00	\$158.
86	MUHL Brush Top Tee, #BTT, or approved equal	Y		EA	AMERICA TEAM SPORTS	1	\$79.00	\$79.
87	Soft Toss Sock Net #SSST7, or approved equal	NB				1	NB	٢
88	Atec #N1 Portable Softball Net, or approved equal	Y		EA	AMERICA TEAM SPORTS	2	\$119.95	\$239.
				EA	VARSITY BRANDS HOLDINGS CO INC	2	\$129.98	\$259.
				EA	*BARCELONA SPORTING GOODS	2		
89	Total Control Ball #MA-TCB 12 (12 Pack), or approved equal			EA	AMERICA TEAM SPORTS	1	\$99.95	\$99.
90	Total Control Ball #MA-TCBYH7412 (12 pack), or approved equal	Y		EA	VARSITY BRANDS HOLDINGS CO INC	1	\$44.98	\$44.
				EA	AMERICA TEAM SPORTS	1	\$59.95	\$59.
91	Resis Dent Balls - Baseball (9") 3" diameter #GC42- 553, Yellow, or approved equal			SET	THE PROPHET CORP	6	\$6.64	\$39.
92	Rubber Throw Down Bases, or approved equal	Y		SET	S AND S WORLDWIDE INC	1	\$5.60	\$5.
				SET	VARSITY BRANDS HOLDINGS CO INC	1	\$5.98	\$5.
				SET	AMERICA TEAM SPORTS	1	\$15.00	\$15.
93	Fastpitch Pants #AA605PBW, black, or approved equal	Y		PR	VARSITY BRANDS HOLDINGS CO INC	20	\$11.60	\$232.
				PR	AMERICA TEAM SPORTS	20	\$13.95	\$279.
				PR	*BARCELONA SPORTING GOODS	20		
				PR	ITS GREEK TO ME	20	\$25.00	\$500.
94	High Five Low Rise Pant, #15052, graphite, Sizes to follow when order is placed, or approved equal	Y		PR	AMERICA TEAM SPORTS	5	\$21.50	\$107.
				PR	VARSITY BRANDS HOLDINGS CO INC	5	\$22.75	\$113.
				PR	*BARCELONA SPORTING GOODS	5		
				PR	ITS GREEK TO ME	5	\$30.00	\$150.
	NuFit Knickers, 3/4 length, no belt loops, Black, or approved equal	Y		PR	*BARCELONA SPORTING GOODS	20		
				PR	AMERICA TEAM SPORTS	20	\$25.50	\$510.

#	Item Description	(Y / N)	Reason	UOM				
				001	Supplier	Qty	Price	Price
	Champion All Star Softball Pant - Dark Green, or approved equal			PR	*BARCELONA SPORTING GOODS	20		
97	Alleson Softball Pants - Gray, or approved equal	Y		PR	VARSITY BRANDS HOLDINGS CO INC	10	\$11.60	\$116.00
				PR	AMERICA TEAM SPORTS	10	\$13.95	\$139.50
				PR		40		
				PK	*BARCELONA SPORTING GOODS	10		
s	Shield Shirt #222504 E77 Gold/Graphite/White with			PR	ITS GREEK TO ME	10	\$25.00	\$250.00
	olack letteringoutlined "GARLAND ["] "SOFTBALL", or approved equal			EA	ITS GREEK TO ME	3	\$55.00	\$165.00
4 99 R	A4 Long Sleeve Compression Crew Neck Top, #N3133, Royal, or approved equal	Y		EA	AMERICA TEAM SPORTS	4	\$11.00	\$44.00
				EA	*BARCELONA SPORTING GOODS	4		
				LA	BARGELONA OF ORTING COODS			
				EA	PYRAMID SCHOOL PRODUCTS	4	\$11.95	\$47.80
				EA	KNOCKOUT SPORTSWEAR.COM LLC	4	\$20.00	\$80.00
				EA	ITS GREEK TO ME	4	\$50.00	\$200.00
	A4 Long Sleeve Compression Crew Neck Top, #N3133, Scarlet, or approved equal	Y		EA	AMERICA TEAM SPORTS	20	\$11.00	\$220.00
				EA	*BARCELONA SPORTING GOODS	20		
				LA	BARGELONA SPORTING GOODS	20		
				EA	PYRAMID SCHOOL PRODUCTS	20	\$11.95	\$239.00
				EA	KNOCKOUT SPORTSWEAR.COM LLC	20	\$20.00	\$400.00
				EA	ITS GREEK TO ME	20	\$50.00	\$1,000.00
P	Pro Mesh Visor - scarlet with royal interlocking "SG" putlined in white "Softball" on the black royal brush							<i>,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,</i>
101 s	script, or approved equal	Y		EA	AMERICA TEAM SPORTS	12	\$12.00	\$144.00
				EA	ITS GREEK TO ME	12	\$13.00	\$156.00
\vdash				EA	*BARCELONA SPORTING GOODS	12		
102 a	Babolat My Grip Tennis Over grip Jar, #B656006, or approved equal	NB				1	NB	NB
	Pro Cage Professional Ball Cart - 18" w x 24" d x 45" h, or approved equal	Y		EA	VARSITY BRANDS HOLDINGS CO INC	1	\$129.98	\$129.98